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Ⅵ　次の 30 を一つの文章としてまとまるように並べ替えた場合、もっとも適切な配
列を①～④の中から一つ選び、その番号をマークしなさい。

30

　　About fifty years ago, using computers seemed very expensive and difficult.

A　Computers were also too big to use in daily life.

B　Now, computers have become cheaper and smaller than ever before.

C　Thanks to the Internet, we can now look up a variety of things.

D　For example, computers are now common even in Japanese elementary schools.

Who could have imagined this some fifty years ago?

①　B－C－A－D
②　A－B－D－C
③　C－A－D－B
④　D－B－A－C

－　－10

Ⅶ　次の日本文の意味を表すように、与えられた語を並べ替えて英文を完成し、 31
～ 38 に入る語の番号をマークしなさい。

向こうにオリンピックで金メダリストになった水泳選手がいるよ。

There’s a swimmer over　　　　　　　　　　　　　　　　　　　　　　　　　medal.

①　an ②　gold ③　Olympic ④　there

⑤　who ⑥　won

先週末、その公園は花見客でにぎわいました。

That park　　　　　　　　　　　　　　　　　　　　　　　　　last weekend.

①　blossom ②　cherry ③　crowded ④　viewers

⑤　was ⑥　with

天気が良ければ明日はハイキングに出かけましょう。

If　　　　　　　　　　　　  ,  　　　　　　　　　　　　tomorrow.

①　go ②　hiking ③　permits ④　the

⑤　weather ⑥　we’ll

弟はインフルエンザにかかってしまって試験を受けられませんでした。

My brother had　　　　　　　　　　　　　　　　　　　　　　　　　 exam.

①　and ②　couldn’t  ③　flu ④　his

⑤　take ⑥　the

31 32

33 34

35 36

37 38

一般Ｃ方式【英語】（必修）
No. 正解肢
1 4
2 3
3 2
4 1
5 4
6 3
7 2
8 3
9 1
10 1
11 3
12 4
13 2
14 4
15 4
16 2
17 4
18 2
19 2
20 4
21 1
22 4
23 2
24 1
25 1

No. 正解肢
26 4
27 3
28 4
29 4
30 2
31 5
32 3
33 3
34 1
35 5
36 1
37 3
38 5
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Ｃ方式

（英語）



一般Ｃ方式【国語】（必修）
No. 正解肢
1 1 8
2 5 6
3 4 10
4 2 9
5 5
6 4
7 1
8 4
9 3
10 2
11 1 10
12 3 8
13 4 7
14 3
15 4
16 1
17 4
18 3
19 3
20 4
21 3
22 1
23 2
24 5
25 1 4

No. 正解肢
26 4 8
27 2
28 5
29 7
30 5
31 1
32 3
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Ｃ方式

（国語）


